Analytic Geometry
Part 1: Selected Response (1 point each)

1. Name the various parts of circle O using correct

terminology and notation. ! @
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2. What is the area of the ci.rcle shown below?
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3. Incircle O, me6 = g and OM = 15 centimeters.
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What is the exact length of MN? Eé W o ;’l
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4. Jane drew several circles, with different radii, using
a compass. What must be frue of the circles she
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drew? <o

5. Circle G is shown.

f“IE,»
E; ?Q ' b?gi"‘

=

Unit 3 Assessment Study Guide: Circles and Volume

6. The sphere shown has a radius of 9 meters. What is
the volume of the sphere?

7. Two cvlinders are shown below. Bach has a height
of 15 units and a radius of » units, and each has been
cut by a horizontal plane that is parallel to the bases
of both eylinders.

Right Cylinder Obiligue Cylinder

How do the volumes of these two cylinders
compare? o g,

8. In circle O, ZQMP measures 50°. .
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What are the measures of /_QNP and LQOP?
9. The circle shows intersecting chords.
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What length is represented by x?
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Analytic Geometry ) * Unit 3-Assessment: Circles and Volume

10. Figure A shows a square inscribed in a circle.
Figure B shows a decagon (10-sided figure)
inscribed in a circle.

If the napkin ring is made of solid silver,

Figure A Figure B approximately what is the volume of silver in
. the napkin ring? Give you answer fp | the.ngarest
Aviva wants to use a polygon inscribed ina tenth of a cubic centlm T L
circle to approximate the area of the circle. l’! e? [ a?j
Which polygon has an area that most closely s gw R
approximates the area of the circle in which it is 14. A flood light in a storage yard SPTEﬁdS light over a
inscribed? Why? Is there a shape that would distance of 30 feet and 15 set to rotate through an
approximate the area of the circle more closely angle of 135”, LR
than Figure A or B? What is it? Why? jﬁ %’p {:% Q,}
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11. The Pyramid of Cestius is an ancient pyramid in vy A
Rome, Italy. It has a height of 27 meters and a 12 10 o ) ofind
square base with sides measuring 20 meters. T v
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% Ar ¢ ow many square feet of the yard will be hit by

the flood light?

-+ 15. The cup dispenser at a water cooler
Wm g contains cone-shaped paper cups
What is the volume of the pyramid? "2 .30 pri™ with the dimensions shown.

Approximately how many cubic
centimeters of water can each cup
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12. Inthe circle, FG and HJ are intersecting chords.

% & L f e
‘} 16. The diagram shows the vertices of quadrilateral
PORS which lie on Circle T,
What is the value of 27
13. The napkin ring has a height of 4 inches and a
thickness of 0.3 inches. The diameter of the hole in
the center is 3.8 inches as shown. What can be proven to be true about quadrilateral

PORS?
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Anzlytic Geometry Unit 3 Assessment: Circles and Volume Name:

17. Russell is done with part of a construction, as shown 18. Be sure you can identify the varlous types of arcs on
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19. What is the valume of the ﬁgure helow? e
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Neil states that Russell is constructing the inscribed
circle of triangle ABC, and Eileen states that Russell %h
is constructing the circumscribed circle of triangle . .l

ABC. Who is correct about the type of construction ? @ 4 mv—fmmﬁ%
that Russell is creatmg‘? e /

20. A dock that is-anchored in the middle of a lake is 30 feet wide and 50 feet long,

The bow (front end) of a kayak is tied to a corner of the dock by a rope that is 10
feet long as shown.

Eilid

A. Use your compass to draw the section of the lake in which the bow of the Dok _ _
kayak can drift. Use letters to name angles and endpoints that are part of B N
your drawing. Describe the geometric figure you drew and what it ' .
indicates about where the bow can drift.  » 2;?@

B. What is the approximate area, in square feet, in which the bow of the S \E
ift? =g ,
kayak can drift? Show all of your work. zf}& y T “3] &h‘.‘?g Z&){p’ﬁ 5 .
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C. If the 10-foot long rope is replaced with a rope that is 6 feet long, how -
will the area in which the bow can drift change? Show and/or explain your work.
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Bonus:

Point P is cutside circle ). Construct two lines through point P that are tangent to circle Q. Show all your work.
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